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‘ \1) Calculate the initial concentration of a 1.3 L solution used to make
8000mL of a 220 mg/L solution.

Cp = Y mgh GV = G\,

Cg_ = 230 Wgﬂ— m9 g

e X2)(1:31) = o) (51

V, = Goom = 8 L X8 < (4RO A,m,?//‘).(».&_ [j)
4% L

(¢ = 1253 8%= | 49

2. You add 350 mL of water to a 1.1 L solution. The new solution has a
concentration of 85 g/L. Calculate the concentration of the initial

solution. &
¢ = X 9L SR d
g (YA 1. 12) = (85 g) (145 1)
W= X 9L :(85911,)(/.451,)
W= .45 /.|
Ly Bl gl
3. Calculate the final concentration of a 350 mL solution made from 25
mL of a 45 g/L solution.
O =454l Caliiz € Vg
|
J, = 25 m- (45 918 (25 me) =(x grc) (350 mL)
gl 45 1N 25 mL
C1 & 9 (‘ 2 ) ): ¥ 9/(,
\J; = 350 mb (350 mu)

o 2.2 9L




4. You add 50 mL to a 200 mL solution with a concentration of 26%.
Calculate the concentration of the new solution.

R e WL
(v sk (6% ) (200 mL) =(x %) (2DmY
V= 250 mL (X(v( ;5);/2’)"“‘) - x4

Co =09 ¥

5. Calculate the the volume of of a 15 g/L solution needed to make 300
mL of a 400 mg/L solution.

C, =153l CV, = C Vs

V, = Xml (15 9/L) (x mb) = (0.4 /L) ( Z00mL)

Cl: L}'m npgj(, =O.L/9/L (Y mL):(oLfg/(,)(goo mL)
\J, = 200 mb (15 9/0)

\),:BmL

6. You have a solution with a concentration of 25%. You want 500 mL of
a 15% solution. Calculate the volume of the original solution needed.

C =25 % @l = . \,

V= Xm (25%)(Xme) =(15%)(500 mL)
Ca=15% L = (15%)(500 mt)
\}Z: 500 mtL (JSOA)

\J, = 300 mL




7. Calculate the volume of a 36 g/L solution made from 20 mL of a 80

g/L solution.
CI - BOo gJL C/l N C’L\ja
V, = JOmtL (B0 9/L) (20 m) = (B6 gIL) (x ML)
L il (80 91L)(20 m0)
\]Z; Y mtL (3(0 9/L) = (X f‘(\L)
\/& = /’}L/' L’ mL

8. Calculate the volume of a 20 g/L solution made from 100 mL of a 0.5
g/mL solution.

[0S Em. -0 =G,

N = 100 mL (500 910)( 100 m) =(201L) (XmL)
Cz = 40 4l (500 919100 mb) AT
i = KoMl (20 gi) =X my

9. You have 450 mL of a 28% solution. Calculate the volume of water
added to make a 15% solution.

C_‘ = Q@e/o C. U‘ = CZ\}Z
\)‘ = 450 mL QB 73)("‘}50 ML) 3(\60/,)(5( mL>
:'.\ oo ° \ 9 .
& 15, (ovg /-)(450”’\):()( i
Nz = Xl (15 %)
Ny = 840 mL
WoRr added !

Np-N, = 80, 10 m = 390 m




10. You have a solution made with 47 g of solute and 550 mL of
solvent

a. Calculate the concentration in g/L

L2
\
550mML = 100D = . Utg
0.55L 0 55L
L= B559)

b. Calculate the volume of a solution of 25 g/L made from the
original solution.

et 355 9 CY. = CoVe
v= 550 m (85.5 910) (550mL) =(@5 91K mL)
(8 ©.5 9!@) (S50 m.) L (% L)
V, = X mL @5 glIL)
U= /88| mL =1.9 L

11. A solution with a concentration of 30% V/V is made with 10 mL of
solute.

a. Calculate the volume of solvent needed.

\J olutey
O/O % = (s % = ‘00
\‘(io‘&ﬁvm’

\J (soluers) = \J (Sutian) s
&L = (12

g ) =100 Vsl = 233l - IOmL
81O ol \/ “
) ivent) = 23.3mL

\}(So\\_ﬁ.m\ = 335mb

b. You want to dilute the solution to a concentration of 12% V/V
Calculate the volume of solvent added.

Qa0 C V=2 &GV,

Vs 33mme (39%)(33.3m) =(1296)( X mU)
Co = yao L N

\)z_ o vk ”a%)

g = SCTPI R
Awent gaded: 832 mc-33,3mL = SOML




12. A solution of 27 g/L is made with 3500 mg of solute.
a. Calculate the volume of the solution.

pesfiay] 2
3500 < jp= 27 I = i——f

3.5
J V=0/3 L = /30 mL

b. 400 mL of solvent is added to the solution. Calculate the
concentration of the diluted solution.

C/:o?49/l’ C, V,:Cz\/é
V. T (J??/L)(/ZO mt) = (x gu)(530 mb)
= iy (22919(10m0) _ o,
\/L: 530mL e mL) PP
Co = G 24
13. You add 60 g of solute into 1.4 L of solvent.
a. Calculate the %/Tf)N ) |4 L-loco= 1dopomtL
% A= v(:::: T
% " = (9 ipom) « 100
B T = 437,

b. You want to dilute the solvent to 1%. Calculate the volume of
solvent added. '

e %5‘%) C/ ul ; % V&
Ty W3%)(4d L) = (1%) (xL)
ek 1 (_41_5__/_),!_5‘__‘:) s Nl
\/L: SCIE (IOA?) MUQ/H’ added
\j‘;): éL- GL-1.49L =

H.b L




CorreCtiom

N mv
14.  You have 600 mL of a 18% WAf solution. You want to dilute the

solution to 60 g/L. Calculate the volume of the diluted solution.

1. Conversiovi: (0 ¢/L — x %
@0 9 i Y) (dolule)

= = jo00mb e ool O
Toillp{ WO e — (o
L P//uﬁ(/w.
C,T /80/0 C,’ v‘ :GZ\/Z(
J = b0Omi (18 %) (b0omt) = (6 %)( X mL)
& = (% (/6%)(Q>OOML) e
i ¥ P moeeh R

Uy = 16oomL = 1.8 L
15.  You have a solution with a concentration of 120 g/L. You dilute it to

make a 1.5 L of a 8% m/V solution. Calculate the volume of the
original solution.

1. onpeasion:; 9% M 2 X giL

= ®D 9 ¥%9 89
be mly = > 2 -« 100 6 l/Q R AT =
Bt oo il o0 T . 10mL o0 mML

B - %%/ L = 80 gL

L. Dilukion
e, = 120 9/t GV =G Y,
4§ - (120 91)(y 1) = (80 9)(1.5 L)
C;ﬁ 80 g1 X L = (80 9/0)(1.54)
R S5l (120 91-)
5 b

B




